e (3. 1 - 5) Faferfiad ey #) ofi siv

37 # {0 3R & I AR | T ¥ 3o S
TR ARG B T1fRv |

T, It Qe ) waw F T weEs whwd @

AT ®, S8 @ < W @ 9 qrem o R |
~3Y 1 A1 T e et qr
SR, Sheael Teh NIavTd 1 2gei @ oft &

S/F/P/11/20:

2,

gt &1 qqE e wfagra arl, A
iy & ferd 3ueTey @ 7

(A) 0.1%

(8) 0.001%

(C) 0.67%

(D) 0.067%

Arferfiad 3 & F—a i § i o A

(A) T 271 o6 SFftent 3 e Wl < T
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(A) T TS B STehai Feh harct 3%
qeft € g % for Ieed ®

(B) s 97% WA HFl & I % fod
S T @
BRI 1 e T 1 RIS YR

(D) HYad: Ut 1 SGITIEHaT M S
i <k feurfer et et

wfre 1 27t % sfier e 2Ter o fordl shia -
3T aifere warelt € ?

(A) @t BRI Y T8 T 31 =R

(B) Y % STfRrEhTE o forR RO s =
(C) T} ST TREOT FHTAT <R

‘g\ti(o) AT T (FATELE ) Y g qOTe|
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| Directions (Question No, 1 . 5): Ae
i excerpt and answer the questions 3

The answers to the questions shoy!
the excerpt.

4d the follow/ing,
ked at the end.
d be pased on

Although water covers approsimatels ifwsfr\:;g
percent of the Earth's s face, of this less i
-~ three percent is fresh water, Accounting fot ”:(‘
ter locked in glaciers, ice-cap5 o' othcnfr ;p
accessible, less than a tenth of @ percent of the
Earth’s v/; labie. ansy_mp,ago
Pollution, population growthand wasteful irriga to::
practices are contributing to 2 world?vide wate
fortage. When the clear precious liguid become;
garce, countries begin to assert claims on fres
ater supplies, As a result, drinkable water has
come a region of conflict that could eventually
to greater hostilities between nations.

pme countries such as the United States, have
mple sources of water, In other nations, such as
Nina, water is less plentiful. As water resources
jindle competition for available sources will
may claim rights to a particular body
they may plan to build dams and

In order to combat this issue
dopting water conservation
ions. The United Nations has
) combat potential issues

4
surface of earth coveres
7

2. What percent of yailable for human

with wWater, is 2
consumption 7

B 0.1y

(B) 0,001%

(€) 067%

(D) 0.067%

3. Which of the following could b'e‘p;'ojzarzlr;

reason for hostility among n?txon; in futu 'l;

(A) The fact that America has ample
sources of water By

(B Assertion of claims on fresh water
supplies in future %

(C) China intends to claim on fresh water

sources as it has less sources than

America gS
(D) In-equilibrium of arms among various
nations

4. Which of the following may definitely not
be concluded from the passage ?

(A) Upto about three percent of water
may be for human consumption by
accounting all possibility

(B) About 97% of water is unusable for
human consumption

(¢f Water crisis may trigger an arms race
among nations in future —

(D) Water crisis may possibly end up in

creating a hostile relationship among v
countries

5. What would be the most effective solution to
avoid future conflicts among the nations ?

(A) To destroy all weapons
(B) To sign Pacts on water rights
\(f” To conserve water

(D) Tomake United N4

body in handling STective

[PTO.
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6. Frerfetem smepfe % 3 oo fapon 7 9, 1ﬁ;qamqﬁaiﬁaﬂvr:ﬂzﬁux)aﬁaaaﬁ?ozﬁq
fopre 1 L |

B

% [R] ] ¥

(a) (b) (c) (d)

(A)
(B)
()
(D)

(g} [=5 {1 ler

10. fe e wmw i, af OA= s, 0O =9,

@:125@1 ©) =16,?h@A =i

(A) 89

(B) 100
(C) 144
(D) 2304

11 (SR ) R T T
‘ (A) i

(B) At

(c) &R

(D) A

(amrsh v ) = e T gt A |
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6. How many total trj ngles are there in the

Certain numbers are given inside/outside
the square box according to 2 particular
ule. Identify the correctoption tofill in the
space marked with question mark (?).

27 56 27
18 llo s iEiNl9" 36| ?
9 7 9

NS

Ak
, CHAL @)

e,\»@\

figure, four images are
tain way. Find the odd one

e

TR S

9. Find out the correct option for mirror
(Vertica” image of the following figure.

(a) (b) (c) (d)
(A) b

\(BV"a
(€) d
(D) ¢

10. In certain code language, if OA = 5,
00-= 9, @ =125 and| O | = 16, then

©fa]- %\
(A)_89 1\ &
100 ) ‘
(C) 144 A v - : @
b st 2 1T
11. The correct synonym for ‘Slumber” is
(A) Sleep
(B) Shiny

\(52)/ Steer

(D) Seller

12. Ofthe wordsgiven below, three are synonyms.
Chogse the odd one out.

Lethargy
(B) Energy
(C) Activity
(D) Spirit

[PT.O.
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13.

e 39 g ol S0 T2 sy & 5723
R 3 (st o A) 56
(a) fem

17.

18.

20.

i foe (S50 T ) 7, A e
=

TFaT 2 |
a5 s gt o A & T £ T
et oA A e 9, 4 A

gRFEIA A FE G |

(A) FTHH
(8) fefErfmfea
(C) THARH
(D) FACLRA

T ¥ iR HaTE FO % o o S
1 39T 3HA1 AT &, 39 FHeEl F4l @

(A) T (F)
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13,
Choose the prefiy at should be added to @
A person who talks in sleep is called as

the word ‘Legible’ 1o form Its antonym.

(A) dis

blank with correct collective noun.

18.

19.

() Philatelist
(B) Somnambulist
A Somnitoquist
(D) Oneirocritic

Choose the correct alternative which can
be substituted for the below underlined
phrase,
She was reading from a list that contained
|| the kn idi h
of English.
(A) Magazine
(B) Gazette
@ Dictionary
(D) Glossary
listening is also called as critical

listening.

(é)/ Therapeutic
(B) Discriminative
(C) Empathetic
(D) Evaluative

The document that is used to communicate
within the organization is called
(A) Letter
BY Memo
(C) E-mail
(D) Telex

[PT.O.
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21, You received an ) congratulating you
that you have wo, , lottery. It further asks

to share your contyq jnformation. What
will you do ?

(A) Share the inforpation and wait for
~reply

Vill plan for investing the prize money

are at Airport waiting lounge and
BSErve an unattended baggage for long
i} ,‘?,,“ls‘ will you do ?

Open the bag and check for the owner
Bnore the baggage

nform the Security Incharge about
: ' 'i'Fhogt”tquching it

24, You recelvagd an a-mall from your friend
Fequestip, you urgently transfer some
money dyg y, an emergent situation, What
will you do ?

(A) Seng money on priority to help him out

([)/ Try to contact the friend to confirm the
Sltuation

(C) Ignore and delete the message

(D) Send money to his relatives you know .

25. Youarea Director of a school and invited as
a chief guest for an annual function of the
school. On the way to attend the function,

you got stuck in heavy traffic. What will you
do?

(A) Will not worry as you are a Director and
people can wait until your arrival

(BY Call the organizers and update about
your situation requesting not to wait

(C) Call the organizers and request them
to wait until your arrival

(D) Call the organizers and tell them to
cancel and reschedule the event

Which will be the next number in the series

given below ? 280 2|g J.)'__
Y1.2/3), 1/2), Uz Ml
AR, 4 3 ZRa
(Y) 1/4 0 V& A2 R

(C) 3/4 o

(P) %/38gH08

2. Lolsas olc [PTO.
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27. A family ofws consisting of
six members A, B, ¢, p, E and F has three
males and three females. There are only
two married couples and tWO unmarried
R giblings. F is A’s daughter and B is C’s
‘mother-in-law. E is an ynmarried male and
s a male. Which one of the following is
rect ?

- Cis F's husband

[B) Cis D’s wife

(C) Disunmarried

(D) Noneis true

b
3

28. *e page is torn from a book whose

pages are numbered in the usual manner
starting from the first page as 1. The sum

the numbers on the remaining pages is

lady, “your mother’s
y Aunt”. How is lady

1abets are
en below ?

C_uyn
v

Directions (Questio 31 - 35) Read the following

Thee;ﬁtsevnd aNswer the questions asked at the end.
ers t ; 4

the excerpt, O the questions should be based on

PhOtng?phic evidence suggests that liquid water
once existed in great quantity on the surface of
Mars. Two types of flow features are seen: runoff
chan _Runoff channels
are found in theww- These flow
features are extensive systems — sometimes
hundreds of kilometers in total length — of
Interconnecting, twisting channels that seem to
[merge into largér—wider channels. They bear a
strong resemblance to river systems on Earth and
geologists think that they are dried-up beds of
long-gone rivers that once carried rainfall on Mars
from the mountains down into the valleys. Runoff
channels on Mars speak of a time 4 billion years
ago (the age of the Martian highlands), when the
atmosphere was thicker, the surface warmer and

Tiquid water widespread
Outflow channelsarem-obatﬂy_r_’__,r_eli_cs_cﬁita_stﬁubic
flooding on MarsTong ago. They appear only in
equatorial regions and generally do not form
extensive interconnected networks. Instead, they
are probably the paths taken by huge volumes
of water draining from the southern highlands
into the northern plains. The onrushing water
arising from these flash floods likely also formed
the odd teardrop-shaped “islands” (resembling
the miniature versions seen in the wet sand of
our beaches at low tide) that have been found
on the plains close to the ends of the outflow
channels. Judging from the width and depth of
the channels, the flow rates must have been truly
enormous—perhaps as much as a hundred times
reater thafithe 10> tonsper second carried by the
great Amazon River. Flooding shaped the outflow

channels approximately 3 billion years ago, about
the same time as the northern volcanic plains

formed.

31. In which of the regions are flow features
seen on Mars ?

(A) Western plains

(B) Northern highlands

(C) Southern plains
\}D) Southern highlands

[PT.O.




' s # At o w1 GAA ) 7
)_ (A) ST g o AT ST o gy i o
| e 1
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36.

a3 ay Al 7 T
gy AT 74 % o B 9f8 TFE 10574
LA i
et At % AR A A

A S % faorr ATEL TLANZ %
ey VAT o AT T A2

::fq—ﬁ 701 AT 0 710,221 A 430
i s o, e AT e s
a8 a4 2% fow, % Bewaa oA w
% AFnF “AT 7,

3 % foru gat mfFaane 41

(B)
(©)

(D)

vF A A d JF FiH 3l AlFd FH:
6.25 T34, ufa =12 =it 7.75 &1, ufa =2
#F1 e B =@d @ | afE 3 v 2 fgon d Fea
%, @ 3% 19.5 .. 2 51 A foran w3
@ 7

(A) 177%2

(B) 227%2

(C) 13%2

(D) 12%2

afe 9 7 8 w12 wfifem ek 8 farti i 1/3
TR BT il et ek sffiem o2 am s
(A) 23 ;




32, What does the digeyggjon In paragraph of 35, '“l"f«lymph why does the Author include

runoff channels in 1y, southern highlands t""'"'Onnnu that 105 tons of water flow
suggest about Mars 7 /:/:yh the Amazon River per second ?
| (A) The atmosphere of Mars was once To emppasize the great size of the
i thinner than it |5 today Volume of water that seems to

have flowed through Mars' outflow

y fell on parts
(B)~Large amounts of raln once pi channels

of Mars
(B) To Indicate data used by scientists to
- (€) The river systems of Mars were once estimate how long ago Mars’ outflow
~_more extenslve than Farth's channels were formed
(D) The rivers of mars began to dry up (C) Toargue that flash floods on Mars may
about 5 billion years a0 9 have been powerful enough to cause

tear-shaped “islands” to form

(D) Toargue that the force of flood waters

3 f':.The amount of water flowing down the on Mars was powerful eno.ugh toshape
“outflow channels on Mars Is estimated to the northern volcanic plains
be closest to

',(A) epusnsiRensecond 36. Two persons starting from the same place
:(B) 105 tons walk at a rate of 6.25 kmph and 7.75 kmph,

10500 tons per second respectively, W ' ill_they take to

( ) 10500 tons b_wrt, if they walk in the same
R irection ?
Lﬂ‘_ ® b'\' 0. S(LM)
(A) 17 hrs
to paragraph, all of the following (B) 22 hrs = DI
he outflow channels on Mars (cY 13 hrs e f)T Ho
around the same time (D) 12hrs - Ble

If 9 men completed 1/3" of a work in 8 days
d only on certain parts of working 8 hrs per day, how many more men
/ B should be engaged to finish the rest of the
work in 4 days working one extra hour a
mpty onto what day ?

ce been the wet (A) 23 /L_ LCMA]
 have carried ©/32 J—_‘T— l AV
d from the equatorial (C) 36

(D) 46 2_ I
13 X4 wq ’:-:‘[‘PTO

b 1S b ls»\r fi'lmo.lw?— %
PN ’?
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28 2k BRANCH T 8 DTCLAFG 3, 3
Frfafea #

F=H-81 991 Hay g

Fare?

{A) PCOAWG : RESCUE
~ (B) NATION : CYRGMK
[C) DPGGPF : FRIEND
(D) NORMAL : ALTFCD

|
|
|

) T firarsat d€a + 1978 381 2t £ |
. a3.

i) S Pog gt |
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e
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A
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relationship as BRANCH has with QTCLAF?
(A) PCQAWG : RESCUE
(B) NATION : (

38. Which of the following indicates similar 42,

43,

You co our neighbour is

COVID?; ;‘2,523:” w:;tywill yougdo ?

(A) Cheer yp your neighbour

(B) Prescribe medicines based on your
experience

(C¥ Askhim to report the matterto and take
advice from appropriate authorities

(D) Ask him not to tell to anyone and stay
home quarantine

You are writing an examination and you
notice that your best friend is cheating
during the exam and the invigilator has not
noticed it. As a responsible citizen, what will
you do ?

(A) After the exam you will advise your
friend not to cheat because if he gets
caught then his future will be spoiled

(B) Will ask him to pass that chit to you/qc
W

o

(C) Will ignore as he is your best friend

\(?{ Complain about him to the invigilator

Because of continuous rains in your city there
is a problem of water logging, unhygienic
conditions and more than 1000 cases of
Dengue and Malaria are reported. As a
Corporator to which of the following things
you will give importance ?
Mrrange for medical support and food
to needy people
(B) Announce financial help to people who
have suffered
(C) Relocate all citizens to safer place

(D) Not do anything as it occurs every
year

[PT.O.
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105 ?
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(A) 321456
(B) 231456
(C) 312654
(D) 314265
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45. Recently you attende a weddingfunction  48.
and returned home, what will You do ?
st
(A) Resume your routine activities

immediately
~ (B) Undergo quarantine at home for at

o ~ "least a week W_
e

m‘"&i,ediately visit the hospital for

0 IP-IS testing

e immunity boosting medicines

49,

)

B

ithmetic mean of first n natural
is 100, then n is (@
. (‘k o
B
ni

POt =\ —
% o
,;—' 2l g‘)_.'tl g “_\_V\(\\ &\

v gl’s e n

A S

cord 0 liiidgn&ina given
mean absentee
ind the frequencies

50.

20-25

-

51.

17

\

G

i
R

LGS

\'Y \q

@ e

. g2

Find the Missing number

2 E S D

?

2 e 6 3 6
(A) 105

(B) 151

(C) ,210 @
\(}7(117 Yt =

Some letters are given which are numbered
1,2,3,4, 5 and 6. Find the combination of
numbers so that the letters are arranged
accordingly to form a meaningful English

word.

o[ InY[iwETRT]. E | D
((/;) 221456 Dfﬂwor\)
3 >
) - 231456 NOWM
) 312654 iy
(D) 314265 ) e

If ‘City’ is called ‘Village', ‘Village' is called
‘Forest’ and ‘Forest is called ‘Building’, then
where do deers live ?

(A) City iy — V!
(8) Village ° vid- P

() Building

|dentify the disadvantage of oral

communication.

(A) Immediate feedback is possible

(B) kistener's reaction is observed

(C)/ A considerable amount of money and
time is spent

(D) Speaking to friends become easy

Kx:_m)t RS [PTO.
=% G 0 kugd
-t Agn =L

D =) n
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; 52. es the

A communication process includ

following sequential steps:
sion and decoding

(AY" encoding, transmis
(B) transmission, encoding and

»

ecoding

x ansmission and encoding

oding and transmission

ad by managers to assign
6b instructions; inform

56.

57.

58.

\

59.

60.

Find the correct answer for ‘How much are
\aihafile e it

MEQQS ?l

(A) One kilg of twenty five rupees.
AL o s

(C) Onekilo in twgﬁy’ﬁy_g__rupees.

(D) One kilo on twenty five rupees.
L e

Choose the sentence with correct

(A) What would you like to have for Breakfast !
(B) _ What would you like to have for Breakfast.

What would you like to have for Breakfast ?

(D) Whatwould you like, to have for Breakfast ?

Fill in the blank with correct article pair.

My uncle visited Andaman and

Nicobar Islands and Kerala.

(A) the/the
(B) the/ article not needed
(C) an/a

article not needed/article not needed

\

Fill in the blank with correct option.
A snake on the ground.

(A) walks
(B) slide

/('C)/ slithers -

(D) move

Fill in the blank with correct option.
Arun became after the robbery.

W/ death broke

(B) deadly broken
(C) break dead

y( dead broke

Y e |

[PT.O.




| ﬁiﬂ .(yﬁm M a1e ! Fferce & o segara
3 61-70): ﬁQWW‘\‘W}ﬁQQEQWH 64. Qa';:ga‘:'z‘ (& 3 I~y
T

SRS ) /R . S 1 Ry | o ﬁ,(mmwﬂmzwﬁtﬁmm
6 -1 ey o e | :‘;37;“ ) Il - 3 ST T T
. \ 2
LSS EE o
(O AN AT (A) a‘q&'ﬁﬁai
{ R e i 2 | () whufRTE
R () b 1snfAfea &

(D) 7t aeh |3 T & 7 o1 ffea R

65. U SN S_a T, T HA T STE &8 |
eh /(M) | : TR Sepf o ferm R
T/ (amum) 1 2 T fem @ = ity
AT |
(A) T | STFH HLaT B
(B) T Il TR FTaT &

(C) T | AR Il STTHW Fxq &
(D) T 13K T & 7 1| 1w
@ ?

66. =S WRE fwe W TR 1 T Heeaqy!

TEW 2 |

T/ (ST) 1 s e e s

&@“W*m@mwm
l

i»%.:- T/ (ST 11 e 3 e i wm



=

mu? “'S(Q.leslionﬂq 61-70):In e:—_-t ‘
. 2iow is given astzrement 3G followad
:‘hmmm\,eﬁz’3m;j»c Sar
L the arsuments and deGide yhich opUion I o

1:Reme are d
H:W
mption | is strong
Il is strong
mption | and il are strong

3 assumpﬁonlnorllisstrong

an advertisement.
1 : Catchy slogans do not
I

65.

66.

Dtion | - Medicine ALPHA is a very
{ =

! A - = |
"y Ass "“4ﬁn115:mp..at

umption I S imphicat
(C) Assumption 1 and Il are implicit

(D) Neither sssumption ! nor Il is implicit
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Which of the following does not have a line
of Symmetry ?
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79. Which of the following options is correct ?

(A) Mihika bought dozen eggs.
(B) Mihika bought the dozen eggs.

Mihika bought a dozen eggs.

(D) Mihika bought an dozen eggs.

80. Which of the following options Is correct ?

/(A‘)/Every man knows his duty.

(B) Each man knows his duty.
(C) Many man knows his duty,
(D) Any man knows his duty.
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